
mi Verb Worksheet #4

Present Active Conjugations of tivqhmi (*qe) I put, place

present imperfect1 future aorist perfect1, 2 perf md/pas1, 2 aor pass1

1 Greek tries to avoid two aspirates so the first one is “deasperated”: qe ÷ qiqe ÷ tiqe ÷ tiqh ÷ tivqhmi
2 Ablaut: qe ÷ qei

Present Active Conjugations of deivnumi (*deiknu) I show, explain

present imperfect future aorist perfect perf mid/pass aor pass

None

in N.T.

or

Sept.



mi Verb Worksheet #3

Present Active Conjugations of tivqhmi (*qe) I put, place

present imperfect1 future aorist1, 2 perfect1, 2 perf
mid/pass2

aor pass1

tivqhmi tivqhn qhvsw e!qhka tevqeika tevqeimai ejtevqhn

tivqh" tivqh" qhvsei" e!qhka" tevqeika" tevqeisai ejtevqh"

tivqhsi(n) tivqh qhvsei e!qhke tevqeike tevqeitai ejtevqh

tivqemen tivqemen qhvsomen ejqhkavmen teqeivkamen tevqeimeqa ejtevqhmen

tivqete tivqete qhvsete ejqhkvate teqeivkate tevqeisqe ejtevqhte

tiqevasi(n) tiqevsan qhvsousi e!qhkan tevqeikav periphrasic ejtevqhsan

1 Greek tries to avoid two aspirates so the first one is “deasperated”: qe ÷ qiqe ÷ tiqe ÷ tiqh ÷ tivqhmi
2 Ablaut: qe ÷ qei

Present Active Conjugations of deivnumi (*deiknu) I show, explain

present imperfect future aorist perfect perf mid/pass aor pass

deivknumi None deivxw e!deixa devdeica devdeigmai ejdeivcqhn

deiknuvei" in N.T. deivxei" e!deixa" devdeica" devdeixai ejdeivcqh"

 deivknusi(n) or deivxei e!deixe devdeice devdeiktai ejdeivcqh

deivknumen Sept. deivxomen e!deixamen devdeicamen devdeigmeqa ejdeivcqhmen

deivkute deivxete e!deixate devdeicate devdeicqe ejdeivcqhte

deiknuvasi(n) deivxousi e!deixan devdeican periphrasic ejdeivcqhsan
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